TOILET REPAIR

Toilet Installation Parts CLOSET BOLT SET - BRASS-PLATED BOLTS

TOILET SEAT BOLTS

* Includes nuts
* Durable plastic

. \___99

* 2 Nickel-plated
open-end nuts
* 2 Nickel-plated

30 Y

* 2-1/2" Long
plastic bolts
—
UNIT  INN/
PART # DESCRIPTION ORDER  MAS PACK
40280 1 Pair - 2-1/2" Long Plastic Bolts 1 -/500 BAG
40279 5 Pairs - 2-1/2" Long Plastic Bolts 1 -/100 BAG

NYLON CLOSET BOLTS - PAIR

* 100% Corrosion-proof
* Designed for smoother,
faster threading o | '
* Unique bolt base = EE—
preloads into any
flange and eliminates J st 1'
the need to double nut = ) -
* Resists damage due to
overtightening

washers } : p
* 2 Plastic captive 9 () ) \—-——‘3 ﬁ
washers -y } ——
UNIT INN/
PART # DESCRIPTION ORDER MAS PACK
40042 1/4" x 1-1/2" Bolt Set 25 25/400 BAG
40044 1/4" x 1-3/4" Bolt Set 25 25/400 BAG
40024 1/4" x 2-1/4" Bolt Set 25 25/400 BAG
40025 1/4" x 3-1/2" Bolt Set 25 25/400 BAG
40028 5/16" x 2-1/4" Bolt Set 25 25/400 BAG
40032 5/16" x 3-1/2" Bolt Set 25 25/100 BAG

CLOSET BOLT SET - BRASS-PLATED BOLT SET

* 4 Nickel-plated open-end nuts
* 4 Nickel-plated washers
* 2 Plastic captive washers

o) @o s
@)@,

* 4 Nickel-plated washers
* 2 Plastic captive washers

@o)@o+

4
® o) @o +
g @0

¢ Priced and sold per pair Y » ) Ay ‘ .
pere EASTMAN. kg O)CEo + EZ-FLO
\ ®
UNIT  INN/ o
PART # DESCRIPTION ORDER MAS  PACK UNIT  INN/
40210 2-1/2" Nylon Closet Bolts T /250 BAG PART # DESCRIPTION ORDER _MAS _ PACK
40211 3-1/2" Nylon Closet Bolts 1 /100 BAG 40027 1/4"x2-1/4" Bolt Set 25 25/400 BAG
CLOSET BOLT SET - SOLID BRASS BOLTS CLOSET SCREW SET
* 2 Nickel-plated * 2 Nickel-plated / .
open-end nuts opep-end nuts ‘n 0
* 2 Nickel-plated P d * 2 Nickel-plated ' .
washers 80 washers ‘A ()m EZFLO
r . A L} -,
* 2 Plastic captive . 4 ¢
washers ' (4 0 < UNIT  INN/
) I PART # DESCRIPTION ORDER MAS  PACK
~ 40029 1/4" x 2-1/4" Screw Set 25 25/400 BAG
EZ'FL? 40031 1/4" x 3-1/2" Screw Set 25  25/500 BAG
UNIT  INN/
PART # DESCRIPTION oroeR Mmas pack | TOILET BOWL BOLT CAP
40019 1/4" x 2-1/4" Bolt Set 25  25/400 BAG « White plastic construction
40022 1431/ "..BOH Set 25  25/400 BAG « Two-piece for 1/4" or T
40018 5/16"x 2-1/4" Bolt Set 25 25/400 BAG 5/16" bolt nut \)
40030 5/16" x 3-1/2" Bolt Set 25  25/200 BAG ~
40020 1/4" x 2-1/4" Break-Off Bolt Set 25  25/400 BAG UNT NN
40026 5/16" x 2-1/4" Break-Off Bolt Set 25 25/400 BAG PART # DESCRIFTION ORDER MAS  PACK
40050 1 Pair - Round with Washer 1 10/500 BAG
CLOSET BOLT SET _ SOL'D BRASS BOLT SET 98341 10 Pairs - Round without Washer - NEW! 1 -/20 BAG
40035 50 Pairs - Round with Washer 1 10/20 BAG
* 4 Nickel-plated open-end nuts 40039 50 Pairs - Round without Washer 1 10/500 BAG

TOILET MASTER BOLTS AND CAPS

* Hand tools not required
* No caps coming off and no breaking The Toltet Master
flanges from over tightening Toilet Bolts
Entire cap bolts down and holds b E=
toilet in place 2
* No rust or corrosion system with the
cap as a fastener itself

Easy to install and remove, reusable

EZ-FLO | « Works with standard and jumbo wax
@ rings
UNIT INN/ UNIT INN/
PART # DESCRIPTION ORDER  MAS PACK PART # DESCRIPTION ORDER  MAS PACK
40021 1/4" x 2-1/4" Bolt Set 25 25/400 BAG 40273 Toilet Master Toilet Bolts - 5/16" x 2-1/4" 1 24/96 BOX
266 EZ-FLO International, Inc 2750 East Mission Blvd. Ontario CA 91761 Ph.800-486-5256/Fx.866-827-3012

& WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov.



TOILET REPAIR

Toilet Installation Parts RUBBER SPUD WASHER

ADJUSTABLE TOILET TANK-TO-BOWL BOLT SET | * Fits brass

closet spuds Supply
* Complete with nuts and ¢ Rubber Connectors
washers and fully adjustable
* Used to accommodate
offset bolt hole patterns Stop
* Priced and sold by the pair UNIT NN/ Valves
i PART # DESCRIPTION ORDER  MAS PACK
ny 36274 11/2" 12 12/288 BUK
gﬁ g Water
| ©=rho Heater
EZSLS | CAST-BRASS CLOSET SPUD
UNIT  INNY * Complete with AT Gas
PART # DESCRIPTION ORDER _MAS __ PACK brass locknut, S Connedors
40045 Solid Brass - 5/16" x 2" 25 25200 BAG rubber and
metal washers
¢ Cast-brass
TOILET TANK-TO-BOWL BOLT SET body Faucets

* Complete with nuts :
and washers g EASTMANO Water

: Et?u:d-dor It:%f-:ead' [ r'\: ) UNIT  INN/ F!hruﬁon/
riced and sold by the pair i B PART # DESCRIPTION ORDER _MAS  PACK Sinks
— 40131 1"x 3/4" 10 10/100 BULK
w& ) 40133 1-1/4" 10 10100  BULK il
- " o 40135 1-1/2" 10 10/100 BULK Drainuge
- I ﬁ 40139 2'x1-1/4" 10 10/100  BULK
® 40141 2"x1-1/2" 10 10/100 BULK
40137 2" 10 10/100  BULK Faucet
UNIT  INN/ Repair
PART # DESCRIPTION ORDER _MAS _ PACK ERd
40047 Brass-Plated 25 25/200 BAG _ .
5/16" x 3" Round-Head Bolts TANK TO BOWL GASKET Bath
40041 Solid Brass 25  25/200 BAG ¢ Used on flush valve 3.3/8" - .
5/16"x 3" Round-Head Bolts to seal tank-to-bowl Accessories
40043 Solid Brass 25 25/200 BAG connection )
5/16" x 3" Flat-Head Bolts * Beveled ] -
sponge-rubber 3/4" Eg;(;':""gs/
TOILET TANK-TO-BOWL BOLT SET
* Round-head
bolts with nuts UNIT  INN/ Valves
and washers . PART # DESCRIPTION ORDER _MAS  PACK
* Sponge-rubber “ g g\: ) 36251 Universal-Type 10 10/200  BULK
;"OT;‘:'MWI =y i B Cements/
« Priced and sod e Qg TANK-TO-BOWL GASKET Sealanis
by the pair .-', [‘) * Used on flush 4-1/4"
el

valve to seal Tools/
EZ-FLO tank-to-bowl Safety
—— connection
UNIT  INN/ ¢ Recessed molded 3/4"
PART # DESCRIPTION ORDER _MAS _PACK rubber Toilet

40048  Solid Brass - 5/16" x 3" Round-Head Bolts 25  25/200 BAG Repair

UNIT INN
PART # DESCRIPTION ORDER MAS/ PACK .
TOILET TANK-TO-BOWL HARDWARE SET 36257 Fits American Standard®, 10 10/175 BULK ﬁi\ﬂ?"‘e/
Kohler®
* 5/16" x 3" Solid brass bolts
¢ Cloth inserted washers
* Stainless steel washers TANK-TO-BOWL GASKET
* Solid brass nuts & bolts Hardware
¢ Used on flush
valve to seal 2-1/8' 3-1/4"
tank-to-bowl ’
connection Electrical
¢ Beveled 1-1/16"
sponge-rubber
Index
UNIT INN/
UNIT  INN/ PART # DESCRIPTION ORDER MAS  PACK
PART # DESCRIPTION ORDER___MAS PACK 36256 Fits American Standard®, 10 10/300  BULK

91063N  Fits American Standard® Toilets 1 10/100 BAG Kohler®, Western Pottery® and Briggs®

Quality products manufactured by and for EZ-FLO Int. Inc., are not O.E.M. manufactured or licensed unless otherwise specified. Any and all references to trade names and/or
registered trademarks in this catalog, shall not be c d as an end by sucl facturer. Please refer to our terms and Jitions of sale for additional clarificati 2 67

& WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov.



TOILET REPAIR

Toilet Installation Parts

ELASTOMER TOILET BOWL GASKET

* Sticky gasket ensures a
tight seal

Fits 3" or 4" waste lines
Can be repositioned and
compresses up to 50%
Allows movement s
without leaking
Will not break or
become brittle

'EASTMAN

WAX RING
TANK-TO-BOWL GASKET - Fits 3" or 4"
3.1/4" waste lines
¢ Used on flush * Fits all floor-type
valve to seal toilet bowls
tank-to-bowl
connection
¢ Beveled
sponge-rubber EASTMAN
UNIT INN/
UNIT INN/ PART # DESCRIPTION ORDER  MAS PACK
PART # DESCRIPTION ORDER  MAS PACK 40143 4" Wax Ring Only 48 -/48 BOX
36255 Fits Gerber® 10 10/300 BULK 40144 4" x 3" Wax Ring with Flange 24 -/24 BOX
TANK-TO-BOWL GASKET WAX RING SET s
* Used on flush valve 3.1/8" * (1) 4" x 3" Wax
to seal tank-to-bowl ring with flange
connection *(2) 1-1/4" x 2-1/4"
* Recessed molded . Brass bolts e >
rubber 1/2' * (2) Nuts y#) _
* (2) Washers ST
UNIT  INN/ UNIT INN/
PART # DESCRIPTION ORDER  MAS PACK PART # DESCRIPTION ORDER  MAS PACK
36259 Fits Eljer® 10 10/350  BULK 40007 4" x 3" Wax Ring Set 24 -/24 BOX
TOILET BOWL GASKET WAX RING SET R
* Rubber « (1) 4" x 3" Wax T -— -
* For setting most ring with flange
wall-hung toilets *(2) 1-1/4" x 2-1/4" /
Brass bolts
* (4) Nuts s
i | <)
EZ-FLO ° (4) Washers y)v:;)!
- V’
EASTMAN.
UNIT INN/
PART # DESCRIPTION ORDER  MAS PACK UNIT INN/
40013 5-1/4" x 3/4" Thick 10 10/150 BULK PART # DESCRIPTION ORDER  MAS PACK
86300 4" x 3" Wax Ring Set 24 -/24 BOX
TOILET BOWL GASKET
URINAL WAX RING
* Used °|n ﬂ‘i'(Sh vlglvel * Use on all wall-mounted
to sea tcm to bow urinals with 2" waste
connection
. . outlet
* Universal design for
other 3" valve models
* Beveled sponge-rubber g -
construction EZ-FLO
* 4-1/4" OD x 1-1/4" thick T—
o oy EASTMAN.
PART # DESCRIPTION ORDER _MAS _ PACK
36250 3" Universal 10 10/300  BAG UNIT  INN/
PART # DESCRIPTION ORDER  MAS PACK
40150 2" Wax Ring 48 -/48 BOX

REINFORCED WAX RING
WITH FLANGE

* Fits 3" or 4" waste lines

* Ideal for use where a
regular ring does not
provide enough wax

* Reinforced with felt gasket

EASTMAN.

UNIT INN/
PART # DESCRIPTION ORDER  MAS PACK UNIT  INN/
40113 Gasket Only - M61001 1 —/24 BOX PART # DESCRIPTION ORDER MAS  PACK
40114 Gasket with Flange - M61002 1 -/24 BOX 40148 4" Wax Ring with Flange 24 -/24 BOX
268 EZ-FLO International, Inc 2750 East Mission Blvd. Ontario CA 91761 Ph.800-486-5256/Fx.866-827-3012

& WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov.



